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AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;01

									         	 gFjp - A
FWNehf;F tpdhf;fSf;fhd tpilfs; (OTQs)
gjpide;J (15) fl;lha tpdhf;fs;

(nkhj;jk; 40 Gs;spfs;)

tpdh 1w;;Fupa ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

1.1  Unit 01 
 5X + 7 = 23 + X 
 4y  = 16 
 y  = 4 

    Answer (2) 
(3 marks)  

 
 
1.2 Unit 02.2 
   x[1 - (1+r)-n]   A = 100 000,  n = 4,  r = 0.18 

A        =                                  
    r  
 

 
           x[1 – 1.18-4]  
100 000  =                                  

        0.18  
 
      x  =   100 000 X 0.18   
          [1 – 1.18-4]     
  
                 x  =   37,174  Answer (4) 
 

(3 marks)  
 
  
1.3 Unite 03.3 
 TR = 4,500 + 30q - 3q2 
 MR = 30 - 6q 
      Answer (1) 

(3 marks) 
 
1.4 Unite 02.1 
 I = prt  P = 150 000,  r = 12.25% =0.1225, t = 5 
 
 I = 150 000 X 0.1225 X 5 
 I = 91,875 
     Answer (2) 

(3 marks) 
 

(mj;jpahak; 01 - fzpj mbg;gilfs;)

(mj;jpahak; 02 - gFjp 11 - mstPl;L epjp foptply;)

(mj;jpahak; 03 - epjprhh; nraw;ghl;L mstPLfs;)

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA1 guPl;ir – [dtup 2019
(AA12) tpahghuj;jpw;fhd fzpatpay; Kiwfs;

gupe;Jiuf;fg;gl;l tpilfs;

tpil (02)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

tpil (04)

tpil (01)



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;02

1.1  Unit 01 
 5X + 7 = 23 + X 
 4y  = 16 
 y  = 4 

    Answer (2) 
(3 marks)  

 
 
1.2 Unit 02.2 
   x[1 - (1+r)-n]   A = 100 000,  n = 4,  r = 0.18 

A        =                                  
    r  
 

 
           x[1 – 1.18-4]  
100 000  =                                  

        0.18  
 
      x  =   100 000 X 0.18   
          [1 – 1.18-4]     
  
                 x  =   37,174  Answer (4) 
 

(3 marks)  
 
  
1.3 Unite 03.3 
 TR = 4,500 + 30q - 3q2 
 MR = 30 - 6q 
      Answer (1) 

(3 marks) 
 
1.4 Unite 02.1 
 I = prt  P = 150 000,  r = 12.25% =0.1225, t = 5 
 
 I = 150 000 X 0.1225 X 5 
 I = 91,875 
     Answer (2) 

(3 marks) 
 1.5 Unite 04.1 
 50+52+54+56+58+60+x  = 56 × 7 
        330+x  = 392 

       x  = 392 - 330 
     x  = 62 
      Answer (2) 

(3 marks) 
 
1.6 Unite 05.1  

          r   =                       n ∑ XY -  ∑ X . ∑ Y 

                    (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                      12 X 6425 – 76 X 913 

                    (12 X 560 -762) (12 X 75 153 - 9132) 

 

= 0.9607 
     Answer (2) 

(3 marks) 
 
1.7 Unite 06.1 

 Price  Index ( 01LP ) = 100
)(
)(

0

1 



p
p

 

 

                = 100
900

1110
  

  = 123.33 

    = 123 %  

      Answer (1) 
(3 marks) 

 
1.8 Unite 07.2 
 0.05 + 0.20 + 0.10 + 0.04 + X = 1.00 

                                            X = 0.25       
Answer (2) 

 
(3 marks) 

    
 
1.9     Unite 07.1      

 Answer for the English medium paper is 0.47   
Answer (3)  

(3 marks) 
 

(mj;jpahak; 02 - gFjp 11 - mstPl;Lepjp tl;b)

(mj;jpahak; 04 - vz;fzpj uPjpahd tpguz mstPLfs;)

(mj;jpahak; 05 - ,U mstPl;L khwpfis xg;gply;)

(mj;jpahak; 06 - gFjp 1 - Rl;nlz;fs;)

(mj;jpahak; 07 - gFjp 11 - epfo;jfTk; mjd; gpuNahfq;fSk; - 11)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

tpil (02)

tpil (02)

tpil (02)

tpil (01)

tpil (02)



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;

1.5 Unite 04.1 
 50+52+54+56+58+60+x  = 56 × 7 
        330+x  = 392 

       x  = 392 - 330 
     x  = 62 
      Answer (2) 

(3 marks) 
 
1.6 Unite 05.1  

          r   =                       n ∑ XY -  ∑ X . ∑ Y 

                    (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r   =                      12 X 6425 – 76 X 913 

                    (12 X 560 -762) (12 X 75 153 - 9132) 

 

= 0.9607 
     Answer (2) 

(3 marks) 
 
1.7 Unite 06.1 

 Price  Index ( 01LP ) = 100
)(
)(

0

1 



p
p

 

 

                = 100
900

1110
  

  = 123.33 

    = 123 %  

      Answer (1) 
(3 marks) 

 
1.8 Unite 07.2 
 0.05 + 0.20 + 0.10 + 0.04 + X = 1.00 

                                            X = 0.25       
Answer (2) 

 
(3 marks) 

    
 
1.9     Unite 07.1      

 Answer for the English medium paper is 0.47   
Answer (3)  

(3 marks) 
 1.10 (Chapter 01 – Mathematical Fundamentals)   
 Tn = 18 – 5n 
 T1 = 18 – 5X1 = 13 
 T2 = 18 – 5X2 = 8 
          d  = 8 – 13 = -5      

Answer (4)
 

(3 marks) 
 
1.11    (Chapter 02 – Part II – Quantitative Finance - Discounting) 
 The best project is A, NPV of project A is positive and greater than project B & C. 
 Therefore best project is “A “ 

(2 marks) 
 
1.12 (Chapter 01 – Mathematical Fundamentals)     

 A’s share is Rs. X 

 B’s share is Rs. X + 10 000 

 C’s share is Rs.2X 

 X + X+10 000 + 2X  = 850 000 

       4X  = 850 000 - 10 000 

        X  = 210 000 

 A’s share is Rs. 210 000  

 B’s share is Rs. 220 000  

 C’s share is Rs. 420 000 

(2 marks) 

1.13 (Chapter 05 – Comparing Two Quantitative Variables)    
           

 These two variables have Strong positive linear relationship  

   OR 

 These two variables have Strong  positive  relationship  

(2 marks) 

 
1.14 (Chapter 02 – Part II – Quantitative Finance - Discounting)    
 
 Statement is true         (2 marks) 
 

 1.15 (Chapter 07 – Part I – Probability and its Applications - I)      

            Statement is False  
(2 marks) 

(Total 40 marks) 

03

(mj;jpahak; 07 - gFjp 1 - epfo;jfTk; mjd; gpuNahfq;fSk; - 1)

(mj;jpahak; 07 - gFjp 1 - epfo;jfTk; mjd; gpuNahfq;fSk; - 1)

(mj;jpahak; 01 - fzpj mbg;gilfs;)

(mj;jpahak; 01 - fzpj mbg;gilfs;)

gpupT  A  ,d; epiwT

(mj;jpahak; 02 - gFjp 11 - mstPl;L epjp foptply;)

(mj;jpahak; 02 - gFjp 11 - mstPl;L epjp foptply;)

(mj;jpahak; 05 - ,U mstPl;L khwpfis xg;gply;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

tpil (03)

tpil (04)

rpwe;j nraw;j;jpl;lk; A MFk;. nraw;jpl;lk; A apd; epfu ,w;iw ngWkjp 
NeuhdjhfTk; nraw;jpl;lk; B x C apidtpl $LjyhfTk; fhzg;gLk;. 

MfNt rpwe;j nraw;jpl;lkhf A njupT nra;ag;gLk;

A apd; gq;F

A apd; gq;F

,U khwpfSk; cWjpahd Neu;Nfhl;L ,izTj; njhlu;gpid 

nfhz;Ls;sd.

my;yJ

,U khwpfSk; cWjpahd Neu; ,izTj; njhlu;gpid nfhz;Ls;sd.

rupahd $w;W

rupahd $w;W

B apd; gq;F

B apd; gq;F

C apd; gq;F

C apd; gq;F  Rs. 420,000



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;04

tpdh 2w;;;Fupa ghpe;;;Jiuf;;fg;gl;l tpilfs;

										           gFjp - B
ehd;F (04) fl;lha tpdhf;fs;.

(nkhj;jk; 40 Gs;spfs;)

(a)  
 
 
  I = prt  P = 225 000, r = 14% =0.14, t = 2 
  
  I   = 225 000 X 0.14 X 2 
  I   = 63 000 
 63 000 + 225 000  = 288,000 
 
 Total amount in his account at the end of 2 years is Rs. 288 000.00  

(3 marks) 

(b)  
 
 
 
 (i)  A = 200 000, n = 2,  r = 0. 08 
 
  A        =    P (1+r) n 

              
A         =   200,000[1 + 8/100] 2  

 
          
X       =   233,280

                   
  

Total Amount  = 500,000+233,280 = 733,280 
(3 marks) 

(ii)  A=P(1+r) n 

200,000(1+(8/100*1/4)) 8 

200,000*(1.02) 8 

   200,000*1.171659381 

234,339 

So, the interest = 234,331.88-200,000 
           34,311.88 

(4 marks) 
(Total 10 marks) 

 

(mj;jpahak; 02 - gFjp 1 - mstPl;Lepjp tl;b)

(mj;jpahak; 02 - gFjp 1 - mstPl;Lepjp tl;b)

(03 Gs;spfs;)

(03 Gs;spfs;)

(04 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

,uz;lhtJ (02) tUl ,Wjpapy; mtuJ fzf;fpYs;s nkhj;jg; 

ngWkjp &. 288>000.00

nkhj;j ngWkjp

tl;b



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;05

tpdh 3w;;;Fupa ghpe;;;Jiuf;;fg;gl;l tpilfs;

( a )  
 
 
 TR = 700q, TC = 12500 + 450q 

( i ) Profit function 
 

TP = TR - TC 
TP =  700q – (12500 + 450q) 
TP =  250q – 12500  

(3 marks) 
 
 ( ii ) At the Break Even Point 

  TR  =  TC 

  700q  =  12500 + 450q 
        q   = 50 
  break-even quantity = 50 units  
 

Alternative Answer 

TR       = TC 

700Q   = 12,500+450Q 

250Q  = 12,500 

Q        = 50units 

(3 marks) 
 

( b )  

 

 

TP     = -2x2 +100x + 600 

When profit is maximized; Dp (x) =0 

-4x +100  = 0 

-4x      = -100 

  x     =  25 

 
Therefore, the profit is maximized at 25 units. 

 
(4 marks) 

(Total 10 marks) 

(mj;jpahak; 03 - epjprhh; nraw;ghl;L mstPLfs;)

(mj;jpahak; 03 - epjprhh; nraw;ghl;L mstPLfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(04 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

,yhg rhh;G

,yhg el;lkw;w Gs;spapy;>

,yhg cr;rg;gLj;Jifapy;>

25 myFfs; tpw;gidahy;> ,yhgk; cr;rj;ij milAk;

,yhg el;lkw;w Gs;sp = 50 myFfs;

50 myFfs;



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;06

tpdh 4w;;;Fupa ghpe;;;Jiuf;;fg;gl;l tpilfs;

  a)      
 
 
            
      A = 8 

Minutes f x d fd fd2 
1 - 3 6 2 -6 -36 216 
4 - 6 11 5 -3 -33 99 
7 - 9 12 8 0 0 0 

10 - 12 13 11 3 39 117 
13 - 15 8 14 6 48 288 

 
50 

  
18 720 

 
 
 
 Mean        =     A    + ∑ fX 
                                     ∑ f 
          

=  8    +    18 
                                        50 
 
          =  8.36 
 

(4 marks) 
 
b) 

 Standard Deviation =      ∑ fd2   -     ∑ fd   2 

                          ∑ f            ∑ f 

   

 Standard Deviation =      720       -     18    2 

                       50              50 

 

         = 3.78 
 

(4 marks) 
 
c) 

Coefficient of Variation  = 3.78/8.36*100 
 
          = 45.21 
 

(mj;jpahak; 04 - vz;fzpj uPjpahd tpguz mstPLfs;)

(04 Gs;spfs;)

(04 Gs;spfs;)

(02 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

,il

epak tpyfy;

epak tpyfy;

(khwy;) tpyfy; Fzfk;



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;07

tpdh 5w;;;Fupa ghpe;;;Jiuf;;fg;gl;l tpilfs;

  
 ∑ X =1580,   ∑ Y = 1925,   ∑ XY = 229 300,   ∑ X2 = 293 200,   ∑ Y2 = 503 325,   n = 5  

   

 (a)      

 

 

b         =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  

 

       b         =          10 X 229 300 – 1580 X 1925 

                                   (10 X 293 200 -15802) 

 b         =  -1.72 

 

      a         =    y – b x 

 a     = 192.5 – (-1.7183) X 158 
 a   = 463.9914 
 
Regression line 
  Y  = a+bx 

                          = 464.26+(-1.72)x 

  Y  = 463.9914 - 1.72x  
 

(7 marks) 
 
(b) Substitute x = 150 
 
  Y  = 463.9914 - 1.7183x 
  Y  = 463.9914 - 1.7183 X 150 

 Y  = 206.2464  

sales volume is 206.2464  
 

Expected sales volume(in thousands)=206.26 
(3 marks) 

(Total 10 marks) 

(mj;jpahak; 05 - ,U mstPl;L khwpfis xg;gply;)

gpupT  B  ,d; epiwT

(07 Gs;spfs;)

(03 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

,opT tu;f;f Kiwapyhd gpwnryTf; NfhL

khw;wPL

tpw;gid myFfs; - 206.2464

vjpu;ghu;fg;gl;l tpw;gid myFfs; (Mapuj;jpy;) - 206.26



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;

										          gFjp - C
xU (01) fl;lha tpdh

(nkhj;jk; 20 Gs;spfs;)

tpdh 6w;;;Fupa ghpe;;;Jiuf;;fg;gl;l tpilfs;

08

(A) Unite 06.2 

 

(i)  a = 100 + 110 + 120 + 140     =    117.5  

                                      4 

  b =  110 + 120 + 140 + 190     =   140 

                                     4 

  c =   120 + 140 + 190 + 160     =   152.5  

                                    4 

  d = 117.5 + 140     =  128.75  

   2 
 
  e = 140 + 152.5    = 146.25  

   2 
(5 marks) 

 

( ii ) 

Year Q1 Q2 Q3 Q4 

2015 - - 1.071 1.031 

2016 1.057 0.985 0.87 0.957 

2017 0.932 0.957 - - 

Total - - 1.941  

Average   0.9705  

 

Q3 = 0.9705 

(4 marks) 
 

(mj;jpahak; 06 - gFjp 11 - fhyj; njhlu;)

(05 Gs;spfs;)

(04 Gs;spfs;)

tUlk; fhyhz;L 1 fhyhz;L 2 fhyhz;L 3 fhyhz;L 4

nkhj;jk;

ruhrup



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;09

(B) (a)  
 

 

 1/4            L   

   T 

   3/10              3/4                NL  
 
 1/3             L    
 3/5 B 

 2/3                NL  

1/10 1/12            L  

 M 

 11/12       NL    
 

T  -  worker comes to work by Train 
 B -   worker comes to work by Bus 
 M  -  worker comes to work by Motor Bicycle 
 L  - he will be late to office 
 NL  - he will not  be late to office 

(4 marks) 
 

(b)  probability that the worker comes to work on time  

=   (3/10*3/4) + (3/5 * 2/3) + (1/10*11/12) 

  =  (9/40)+(6/15)+(11/120) 

                          =  86/120 or 0.72                       (4 marks) 
 

 (c)   

 

 

  Method 01 

  A  - Probability of students passed in mathematics paper  

B  -  Probability of students passed in science paper          

  P(A) = 0.8 P(B) = 0.6 P(A∩B) = 0.4 

  P(A/B)  = P(A∩B) /P(B) 

     = 0.4/0.6 

   = 0.67  OR  2/3 

(mj;jpahak; 07 - gFjp 11 - epfo;jfTk; mjd; gpuNahfq;fSk; - 11)

(mj;jpahak; 07 - gFjp 11 - epfo;jfTk; mjd; gpuNahfq;fSk; - 11)

(04 Gs;spfs;)

(04 Gs;spfs;)

Gifapujk; %yk; Ntiyf;F tUjy;

NgUe;J %yk; Ntiyf;F tU jy;

Nkhl;lhu; irf;fps; %yk; Ntiyf;F tUjy;

mYtyfj;jpw;F jhkjkhf tUjy;

mYtyfj;jpw;F jhkjkhf tuhik Gs;spfs;

mYtyfj;jpw;F cupa Neuj;jpw;F tUtjw;fhd epfo;jfT

Kiw 01

fzpj ghlg;guPl;irapy; khztu;fs; rpj;jpailtjw;fhd epfo;jfT

tpQ;Qhd ghlg;guPl;irapy; khztu;fs; rpj;jpailtjw;fhd epfo;jfT



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;10

Method 02 

                                                                                          100                    

 

     

                             0 .4                          0.4 0 .2 

                                                    

 

 

 

U  - All the students in a monthly examinations   

A  - students passed in mathematics paper 

B - students passed in science  paper          

 

Probability of a student passing the mathematics paper  
if he passed the science paper      = 0.40/ (0.4+0.2) 

= 4/6  
         = 67 % 

(3 marks) 
(Total 20 marks) 

 

gpupT  C  ,d; epiwT

(03 Gs;spfs;)

(nkhj;jk; 20 Gs;spfs;)

khjhe;jg; guPl;irf;F Njw;Wk; khzthfs;

fzpj ghlj;jpy; rpj;jpaile;j khztu;fs;

tpQ;Qhd ghlj;jpy; rpj;jpaile;j khztu;fs;

khztu; xUtu; tpQ;Qhd ghlj;jpy; rpj;jpaile;jpUg;gpd;

mtu; fzpj ghlj;jpy; rpj;jpailtjw;fhd epfo;jfT

Kiw 02



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;

Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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